Transfers Report

This report contains the transfers results.

Contest Name	Ward 19 - Inverness South
Valid Votes	5,085
Positions to be Filled	4
Quota	1,018

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Donald Macleod BOYD	Scottish Christian Party Proclaiming Christ's Lordship	104
Carolyn CADDICK	Scottish Liberal Democrats	799
Jim CRAWFORD	Independent	527
Shaun FRASER	Scottish Labour Party	387
KEN GOWANS	Scottish National Party (SNP)	1,287
MICHELLE GOWANS	Scottish National Party (SNP)	376
Andrew JARVIE	Scottish Conservative and Unionist	1,022
Duncan MACPHERSON	Independent	583
	Total	5,085

Candidate KEN GOWANS Elected with 1,287 votes, being in excess of the quota of 1,018 Candidate Andrew JARVIE Elected with 1,022 votes, being in excess of the quota of 1,018

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of KEN GOWANS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Donald Macleod BOYD	5	0.20901	1.04505
Transfer to Carolyn CADDICK	55	0.20901	11.49555
Transfer to Jim CRAWFORD	50	0.20901	10.45050
Transfer to Shaun FRASER	38	0.20901	7.94238
Transfer to KEN GOWANS	0	0.00000	0.00000
Transfer to MICHELLE GOWANS	1,035	0.20901	216.32535
Transfer to Andrew JARVIE	0	0.00000	0.00000
Transfer to Duncan MACPHERSON	51	0.20901	10.65951
Value of non-transferable ballot papers			11.08166
	Total		269.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Andrew JARVIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Donald Macleod BOYD	69	0.00391	0.26979
Transfer to Carolyn CADDICK	272	0.00391	1.06352
Transfer to Jim CRAWFORD	211	0.00391	0.82501
Transfer to Shaun FRASER	86	0.00391	0.33626
Transfer to KEN GOWANS	0	0.00000	0.00000
Transfer to MICHELLE GOWANS	13	0.00391	0.05083
Transfer to Andrew JARVIE	0	0.00000	0.00000
Transfer to Duncan MACPHERSON	166	0.00391	0.64906
Value of non-transferable ballot papers			0.80553
	Total		4.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Donald Macleod BOYD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Carolyn CADDICK	1	0.20901	0.20901
Transfer to Carolyn CADDICK	16	0.00391	0.06256
Transfer to Carolyn CADDICK	22	1.00000	22.00000
Transfer to Jim CRAWFORD	26	1.00000	26.00000
Transfer to Jim CRAWFORD	12	0.00391	0.04692
Transfer to Shaun FRASER	7	0.00391	0.02737
Transfer to Shaun FRASER	6	1.00000	6.00000
Transfer to KEN GOWANS	0	0.00000	0.00000
Transfer to MICHELLE GOWANS	1	0.20901	0.20901
Transfer to MICHELLE GOWANS	7	1.00000	7.00000
Transfer to MICHELLE GOWANS	2	0.00391	0.00782
Transfer to Andrew JARVIE	0	0.00000	0.00000
Transfer to Duncan MACPHERSON	1	0.20901	0.20901
Transfer to Duncan MACPHERSON	11	0.00391	0.04301
Transfer to Duncan MACPHERSON	25	1.00000	25.00000
Value of non-transferable ballot papers			18.50013
N.P. The figures may not odd due to rounding	Total		105.31484

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Shaun FRASER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Donald Macleod BOYD	0	0.00000	0.00000
Transfer to Carolyn CADDICK	51	0.00391	0.19941
Transfer to Carolyn CADDICK	7	0.20901	1.46307
Transfer to Carolyn CADDICK	135	1.00000	135.00000
Transfer to Jim CRAWFORD	57	1.00000	57.00000
Transfer to Jim CRAWFORD	2	0.20901	0.41802
Transfer to Jim CRAWFORD	13	0.00391	0.05083
Transfer to KEN GOWANS	0	0.00000	0.00000
Transfer to MICHELLE GOWANS	18	0.20901	3.76218
Transfer to MICHELLE GOWANS	43	1.00000	43.00000
Transfer to Andrew JARVIE	0	0.00000	0.00000
Transfer to Duncan MACPHERSON	10	0.00391	0.03910
Transfer to Duncan MACPHERSON	58	1.00000	58.00000
Transfer to Duncan MACPHERSON	3	0.20901	0.62703
Value of non-transferable ballot papers			101.74637
	Total		401.30601

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Jim CRAWFORD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Donald Macleod BOYD	0	0.00000	0.00000
Transfer to Carolyn CADDICK	67	0.00391	0.26197
Transfer to Carolyn CADDICK	7	0.20901	1.46307
Transfer to Carolyn CADDICK	179	1.00000	179.00000
Transfer to Shaun FRASER	0	0.00000	0.00000
Transfer to KEN GOWANS	0	0.00000	0.00000
Transfer to MICHELLE GOWANS	31	1.00000	31.00000
Transfer to MICHELLE GOWANS	23	0.20901	4.80723
Transfer to MICHELLE GOWANS	1	0.00391	0.00391
Transfer to Andrew JARVIE	0	0.00000	0.00000
Transfer to Duncan MACPHERSON	290	1.00000	290.00000
Transfer to Duncan MACPHERSON	113	0.00391	0.44183
Transfer to Duncan MACPHERSON	12	0.20901	2.50812
Value of non-transferable ballot papers			112.30515

Total

621.79128

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Carolyn CADDICK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Donald Macleod BOYD	0	0.00000	0.00000
Transfer to Carolyn CADDICK	0	0.00000	0.00000
Transfer to Jim CRAWFORD	0	0.00000	0.00000
Transfer to Shaun FRASER	0	0.00000	0.00000
Transfer to KEN GOWANS	0	0.00000	0.00000
Transfer to MICHELLE GOWANS	117	0.11571	13.53807
Transfer to MICHELLE GOWANS	10	0.00045	0.00450
Transfer to MICHELLE GOWANS	30	0.02418	0.72540
Transfer to Andrew JARVIE	0	0.00000	0.00000
Transfer to Duncan MACPHERSON	501	0.11571	57.97071
Transfer to Duncan MACPHERSON	15	0.02418	0.36270
Transfer to Duncan MACPHERSON	156	0.00045	0.07020
Value of non-transferable ballot papers			60.54658
	Total		133.21816